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Incremental Capital Adjustment

Current Revenue Requirement

Eéﬁ Ontario Energ

Incremental Capital

Current Revenue Requirement - Total $ 11,300,081 A
Return on Rate Base |

Incremental Capital CAPEX $ 3,173,841 B
Depreciation Expense $ 62,189 o]
Incremental Capital CAPEX to be included in Rate Base $ 3,111,652 D=B-C
Deemed ShortTerm Debt % 40% E $ 124466 G=D*E
Deemed Long Term Debt % 56.0% F §$ 1,742,525 H=D*F
Short Term Interest 246% | $ 3,062 K=G*I
Long Term Interest 501% J $ 87,275 L=H*J
Return on Rate Base - Interest $ 90,337 M=K+L
Deemed Equity % 40.0% N § 1,244,661 P=D*N
Return on Rate Base -Equity 958% O $ 119,239 Q=P*0O
Return on Rate Base - Total $ 209,575 R=M+Q
Amortization Expense

Amortization Expense - Incremental c s 62,189 )
Grossed up PIL's |

Regulatory Taxable Income O § 119239 T

Add Back Amortization Expense S 8 62,189 U
Deduct CCA $ 253,363 \'
Incremental Taxable Income -$ 71,936 W=T+U-V
Current Tax Rate (F1.1 z-Factor Tax Changes) 241% X

PIL's Before Gross Up -$ 17,308 Y=W*X
Incremental Grossed Up PIL's -$ 22,791 Z=YI(1-X)
Ontario Capital Tax |

Incremental Capital CAPEX $ 3,173,841 AA
Less : Available Capital Exemption (if any) $ - AB
Incremental Capital CAPEX subject to OCT $ 3,173,841 AC = AA - AE
Ontario Capital Tax Rate (F1.1 z-Factor Tax Changes) 0.000% AD

Incremental Ontario Capital Tax $ - AE=AC*AD
Incremental Revenue Requirement |

Return on Rate Base - Total Q $ 209,575 AF
Amortization Expense - Total S 3 62,189 AG
Incremental Grossed Up PIL's Z -$ 22,791 AH
Incremental Ontario Capital Tax AE § - Al
Incremental Revenue Requirement $ 248,973 |AJ=AF + AG + AH + Al

E4.1 IncrementalCapitalAdjust
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